Press down the
arm to a horizontal position

S=5mm
Allen key

SN
7N\ =

Be sure to keep the arm in horizontal
position during adjustment. Or else, it
would be difficult to adjust the mount.

Q} ) -Q 1turn =1 Ibs = 0.4kg

NOTE: Turn clockwise to reduce
tension for lighter monitors and
counter-clockwise to increase
tension for heavier monitors.

J

_ HE
EZH—AEDOHRE
Adjust the damp for tilting.

Turn counter-clockwise
to reduce damping and clockwise
to increase damping.

-90°/+85° tilt

Insert cables into cable covers.
Leave enough space at arm
joints for full adjustment.

= 1

S=5mm
Allen key

elr—=

Cable cover

oLuUuMenN

Installation

Gas Spring Aluminum LCD Monitor Desk Mount

-90°/+85




WARNING STATEMENTS

Warning

Prior to the installation of this product, the installation instruction
must be read and completely understood. Failure to do so may
result in personal injury, property damage or voiding of factory
warranty.

Do not install on a structure that is prone to vibration, movement
or chance of impact. Reinforce the structure as required before
installation.

The desk clamp can support a maximum thickness of 9 cm.
Confirm the desk edge before installation.

A
A
A
A

Pay attention to the weight capacity of the mount. Exceeding the
limitation can result in function unworkable or even serious
personal injury and property damage.

A

Never operate the mount if parts are missing or damaged.
Contact your local service center for warranty service.

PRODUCT LINE GRAPH

180mm/7.1” Max.340mm/13.4” |

€46 G/UWOBE-0F L

@ Recessed Surface Installation .

@

M4x30 (x4)
Screws

Put spacers on screws.
Install the upper two screws and don't screw them tightily.

12x5.8x16 (x4)
Spacer

12x5.8x16 (x2) Spacer
M4x30 (x2) Screws

s

(Screw driver not included)
BENMYABEE=SF—DIFE.
AR Y—=ZFERATEL

Leave some space and hang the monitor on the head plate.

12x5.8x16 (x2) Spacer

MnL>
FHTTF L

Install the lower two screws and fasten the upper two screws.

IS4y hMEBEELTFE




e Flush Surface Installation =0

M4x12 (x4)
Screws

@ Install the upper two screws and don't screw them tightily.

T "\i":ﬁ:::::f

BTICTER!

M4x12 (x2) Screws

Z| | (Screw driver not included) I ———

700
BEHNEEEZSY-DFA.
LR CHER TS

@ Leave some space and hang the monitor on the head plate.

EDLS CRTHE
WHTTF=LY

@ Install the lower two screws and fasten the upper two screws.

ﬁ
< =

(Screw driver not included)

=

M4x12 (x2) Screws

IS0 wv bZEELTTFSL

J

/e

PARTS INCLUDED

TOOLS REQUIRED NOT INCLUDED

TSR +"RS5A)\—
AEBZABUTTF=W

A @ 4
M4x12 (x4) Screws M4x30 (x4) Screws
B 0
12x5.8x16 (x4) Spacer
Cc I 1
S=4mm (x1) Allen key  S=5mm (x1) Allen key
(
5 g
M6x12 (x3) Screws
.
(
T _ =0
Pad big (x1) Pad small (x1)
. Shr—=z
Cable cover(x1)




() TaEm: -/ REp> < DILTFEN

Tear off the cable tie
and rebound carefully.

Warning: be careful on the sudden
springback of the gas spring arm.

. J

Desk Clamp installation IDSYTEEDES

S=4mm M6x12 (x3)
Allen key Screws

BDKDSIC
RE/\v R%E
BRDfHFET

(L=
—

Measure the thickness of
desktop.

Adjust the desk clamp height
using different hole position /

Grommet installation 20XvY FEIEDES

0 @ Loosen the two screws on the base @ Pass base through the hole in the desk.

@ Screw in the two screws Tighten the clamp until fixed
that have just loosened on the desktop

- P
\_ Atenkey RIDIBEE (C THRARDYITICE L CHUS I ETS )



	MA-GS105BK-0-7
	MA-GS105BK-1-6
	MA-GS105BK-2-5
	MA-GS105BK-3-4

